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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

The slope of supply curve is : : D e bmskFKuuks |1 -1
Infinite 14U (D) Zero #* (C) Positive =3 (B) Negative d‘/ (A)
National income is in equilibrium at level where : q uL;?,%Bni/uﬂi’J (}A 1 #2
Saving = Investment Uk = 25 (B) Consumption = Saving =2 = < (A)
Income = investment + saving =2 + ({6l = &AT (D) Consumption = Investment./6xL ~ = <3 (C)
Zakat cannot be given to / for : : Gﬁ nuj (4 54513
Get slaves free 40’;’) Td/ur‘lﬁ (B) Construction of mosque 4 /:;Ji’ (A)
Collectors of zakat 43}(1034' ¢ (D) Debtors 4%}‘ (C)
A budget of government during deflation is called : : {.t'!k(:af. u"' )Gu:u'b‘g /7 4
Deficit budgef <563 (B) Balance budget &% /1% (A)
New budget <z (D) Surplus budget :le 6 (C)
The Aristotle of economics is : : ﬁ;blgkfﬁ‘/’b/:,?b»‘ 5

J.R Hicks JQT;, (D)  J.M. Keynes y’fﬁia, (C)  Robbins #s (B) Adam Smith 504! (A)

Which is not included in functions of money : : wgfu:{)' Lf'ui"fj'/'ﬁjj 6
Measure of value :C/E/},u (B) Medium of exchange i:b?,JT (A)
Indivisibility fdg,‘g(:’?x (D) Store of value L3525 (C)

During boom : . c)’/»édﬂjgr/f 7
Unemploymentincreases‘aalga‘/.d/b’z'u{_ (B) Business shrinks c‘:.t‘lg/‘eng (A)
Profit increases ‘aﬂ‘w‘/.él’/ (D) Profit shrinks ‘Lt'lg}é ('3l? (C)

The slope of demand curve is : P 7 { ek

Infinite 247U (D) Zero #* (C) Posive =3 (B) Negative (5) (A)

The slope of MR curve is ---- than the slope of AR curve tetve s Km’& BAR3 K»TKMMRJJ:WMJW 9
under monopoly :

Both are at the same curve b(ﬂ.{fgu:’» (D)  More 02l (C) Equal 4« (B) Less 1{ (A)
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Which one is not an economic want : : ‘auﬁ‘/ybd’ bﬂvggf)/ 10-1
Car /¥ (D) Atz (C)  Watch $4 (B) Cloth 1" (A)
A firm gains maximum profit when : R ‘c‘:.&lf ('3\?»)&)::.»:5/‘(} 11-1
MC = AR (D) AC =AR (C)' MR =MC (B) AC =MR (A)
One is not cause of adverse balance of payment : : c".gﬂ,;)ugg( L}’jd: uﬁ: ol 1912
Decrease in exports Ju:au 7z (B) Increase in imports Sl E=tsln (A)
Inflation b1 A (D) Population control J;}Qd}ﬂ ©)
The first law of consumption of wealth is : e U IBr K nai 2|13
Law of supply 4~J#8 (B) Law of demand I (A)
Law of equi-marginal utility ﬁ;ﬁld:l/uiﬁ' (D)  Law of diminishing marginal utility F‘%}GU.TW ::J;’G' (C)
When total production increases then marginal production is : : .;'_mel,g;f:‘??mﬁw*/.m!g.&;e 14
Zero /(D) Positive or negative {5’ led (C) Negative(_f) (B) Positive =% (A)
Which of the following is not called land : : SMuﬁ’u:JJf;ui‘u! 15
' Dam (£} (D) Forests =€z (C)  Mountain i (B) Rain UL (A)
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12 2. Write short answers to any Six ( 6 ) questions :

(i) Write down two merits of definition of Adam Smith.

AP M YA S o R()

(i) Differentiate between positive science and normative science. .-2.‘3/ ugﬁ}w.—/_wﬁiﬂoﬁ ’(k (ii)
(iii) Write down two points of practical importance of law of -é{ﬁlﬁ»ﬁ:«;‘?ly J ﬁ:ﬁ'f UIE (i)

diminishing marginal utility.
(iv) Define the law of equi-marginal utility.
(v) Write down two main characteristics of demand curve.
(vi) What is meant by rise in demand?

(vii) Write down two points of limitations of law of supply.

(viii) Differentiate between composite supply and joint supply.

(ix) Explain perishable goods.
12 3. Write short answers to any Six ( 6 ) questions :

(i) Why law of increasing return is also called as law of
diminishing cost?

(ii) What is meant by marginal product?
(iii) What is meant by marginal revenue?
(iv) Which cost is included in variable cost?
(v) ‘What is meant by normal profit?

(vi) Explain the shut down situation of a firm.
(vii) Why demand curve in monopoly is negative sioped?
(Viif) Define conditions of monopoly.

(ix) What is meant by mobility of labour?

12 4. Write short answers to any Six { 6 ) questions :

(i) State any two demerits of barter system.

(ii) What is meant by transfer payments?

(iii) Describe about zakat.

(iv) Who presented quantity theory of money?

(v) Define trade cycle.
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4. (vi) Describe any two exports of Pakistan.
(vii) Define non-visible goods.
(viii) Define the surplus budget. .
(ix) Define personal income.
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( Part-11 (1).3 4dian )

Note : Attempt any THREE of the following questions.

8 5. Narrate how Professor Robbins has defined
economics and discuss its merits.

8 6. Explain the law of supply with the help of table and

diagram.

equilibrium in short run under perfect competition.

8 8. Explain functions of money.

8 9. Explain causes of adverse in balance of payment.
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. Explain various situations of a firm -2.‘:( C' /"’.‘.a_rl/:é ’5&)?’ bJ’JUJ';ﬁ{’/J&;fJLJ G‘»Ji

UL
Yy ST NN L

-8

-9



